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STEP 19




STEP 20




STEP 22
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STEP 26

\




STEP 27

\

[

L1




-H -C-1 ~C-2 -C -C-1
vy (KN/md) 16.0 135 0 18.0 18.0
y 7 (KN/m3) 5.9 3.4 4.9 7.9 7.9

C 0.50 1.31 1.13 0.36 0.49
A 0.217 0.569 0.490 0.156 0.213
K 0.022 0.057 0.049 0.016 0.021
OCR 4.1 1.7 1.7 25 36 25
Pc(kN/m?) Pc OCRx Xy ’H

e, 1.8 35 2.9 1.1 1.1
D) 33.0 36.0 38.0 36.0 40.0
M 1.33 1.46 1.55 1.46 1.64
D 0.052 0.078 0.073 0.046 0.056
Ko 0.46 041 0.38 041 0.36
v’ 0.32 0.29 0.28 0.29 0.26
¢ 0.99 0.56 0.53 0.70 0.87 0.65
a 3.10E-03 5.05E-03 5.03E-03 2.98E-03 4.05E-03
v_(1/day) 2.23E-07 3.64E-07 3.62E-07 2.14E-07 7.64E-05
c,(cm?/day) 100 100 100 1000 1000
k. (cm/s) 1.00E-07 1.00E-07 1.00E-07 2.00E-07 1.00E-07
k (cm/s) 1.00E-07 1.00E-07 1.00E-07 2.00E-07 1.00E-07
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36 Step( 1751) 3.735E+04 DISP-X
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